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And we challenge it; all those which are burnt, etc.

OVERVIEW

The X3 asked how can you say that if there was 172°¥n by the w7pi %y, the wIpn
becomes 1211, but we learnt in a Xn>92 that wWIpn °¥y are always TOX even after
they are burnt. The X713 answers this question. N1901N offers an alternate solution.
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The %7723 could have established the Xn>92 (which states that 22w WP 79K

TI0K) in a case where the W7pn was 299 98Y (in which case as the X3 previously
taught there is no 72°y» and therefore it is not P2177 R¥1*). NOOIN does not explain why the Xnx
chose not to offer this solution.

SUMMARY
5w "Xy which are burnt are still 710X,

THINKING IT OVER
Can we find a connection (continuation) between this md01n and the previous
¥ya "7 Mvon?

! Seemingly the advantage of Mo explanation is that (even though we are qualifying the words of the Xn»92,
nevertheless) it is more common than the case(s) the X 3 offers. See ‘Thinking it over’.
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